: = \
o aNe e ~

PN

L\. 'x Toamy, Vievge r..

Yo e 1). PeeT:

4

AL

Y

TR T
v et Yhee x.‘.-ﬁ"l‘\uzﬁ:"‘;

Y
%’cu pq‘u-'l s
3 y

/ e
Ve 8
1

% . ~ ﬁ
de i ¢ T V. YA N __
C\uﬂ. Jappery W 'y i oy 4.'\“(.. y -t
il X

e

TR L . o "v_
B TR Trwas Dadie

For AT o4
;

o

el

\

L R

R

o-

hi.‘-,;,;r.‘.-”. ‘«5’1; Y;‘\"r’,

Yol (O mmewr bond 500

FASTENER SCHEDULE — SHOOTING STATION

SHELTERS

o 1 eiccvoree b P gt 8 A3 R T T RS TSA
7 =
“, - " S, c oy Y, §
- A ‘é\,‘..:-‘}' :\r‘%"‘-c Hd @ J“r%' caxnters : Coamy Trutded i ot

Connection

Fasteners

Truss Seats to Posts

Two ¥ x 10” Carriage Bolts

Trusses to Truss Seats *

nails

Simpson Strong-Tie H1Z Hurricane Tie (Z-Max) with 8d

Purlins to Trusses (Top Chord)

Two #10-3” Screws

Fascia to Truss Ends

Two #10-3” Screws

Truss Seat Blocks to Truss Seats

Two #10-3" Serews every 24-inches (1 each side)

* Trusses can also be connected to the truss seats with 2” x 6” scraps on both sides of the trusses and
then set in between the truss seats. Use #10-3” screws for these connections.

J

= P MOT Chass A Cove

\

A

z
s
¢

|

\'“i-._\ . \ L
T LM..T,.J:E o, Jowe et i}
"
» b 1
. N O,
L. N
T T Y
b » . ’ w
' X

R Mnun'\}r )Ds-d\‘lr:glﬁr'

\:\ W
" LR .
FAY- g;mm’a‘s‘.‘-‘\

576

b

!
|
i

g

SHOOTING STATION

f MY N
i3 By .
[ — \E_)\ L
[ \ A
i 1 y
| i 4
/ 1 i I
;' \ Y S '.'11“
\ | i
x \ X
Y
"4 . L
e A ——— L
) i
. R, IO R—

.
D

N y /
Ve oaret #H

-\s'; ‘5“ ‘H-l;.. '\Y‘i'

% / \ 4
o (VA

5

4 X"
el sedl
-3

i

SHELTER SECTION

. o
T, v Yo &
i

\

\

N

2‘; én _\"'u-rs SC:\}T %\Oe_‘\ﬁs

N

L |

by

-

&'_ﬁ?\ Cnn“fﬂ:‘-- fle_fygﬂ"\"‘;\“i (%Q Jcc—‘\b

Scale: % in. = 1 ft.

N

\ N Ry AT
R

e
I

| 4o

1

is

e

o4 ~

A
(el

e

e

L'
Tis s

S

b

'
s
meatine

a\

—

rt;}{ ‘?:' N4 e

TARGET STATION PLAN

A L9
1 . M
eneve @ 5\)@\"-’40{

Scale: 3/8 in. =1 ft.

ieto .

<l

wrline
/ O

D

& Tast

t
. LY
/“‘—' Mq wa't \:aw“nmidf-"

o

Lo
1}

\

P - AN ‘
2”‘,\ “.2.”! e Tm—acs@' \f\[!—‘\\'[\ Beard 5 e - . ) 9
Ry

1
7 2 . s
Z\X \2. b3 to‘r ].qr-r‘;.“r ‘i" (i.:uu" ‘Baﬂ‘";\(s

3

e N N
s

LY

p Il Lo 3 , 4
. # ¢ &
T [5 * Lo :\Jh{;‘? avh %:r.{‘{ {_ & e

"

i RS
”"‘7( daTvy v~

VN -
{_'(..‘,,/(.-;,'?}‘ AT

\o -0

o E‘}fr\nc L “%;;1‘

A
o
e b Ny
e * ‘Al— \%'vyﬂ/r o
' —— s w—— Gwews SRR i
— ™, o
Frame. (\\-»47:76\\5 —
w, )
L Yeey everhaond @0}
A\ ;o | .
A\ : G L VI N
‘ ‘4{-}:\(1&% s Ve VO, e RS
i Q AN A \
- . ( \ 3
o D e ey
| e - w“,n; AF“ %\
< 1 ~
i Ay
. .\\
N ‘ \
-
| —t
i
|
| | E
! H ]
i H
%
f \

AN
TN
@ K g

SHOOTING STATION SHELTER END ELEVATION

Scale: % in. =1 ft.

ROOF SECTION — TARGET STATION

- ’ - X )
p—— . }3‘_’ /-_
Jﬂ_mo&f\-‘ne. og‘ _T‘;" ¢§T 6—\“‘“‘9 v_/

ooy

-y

v e N
z" % ?‘Ka;,:":" \55.:\'.‘::’ -~

'ROOF PLAN - TARGET STATION

Scale: 1 in.=1 ft.

l‘.h.
)

2w ReaS Baavd

. .EE e ﬁ 4 ‘\) :\ ‘. - (N Lo c\:.)

G-\V'e
,4'_....___. - S ————— — A
TR ___,' b
/\_ - %A Raod Frame. (Lona)
-
\ ],t . Y _ — , I i
::L\ ' ) ] L - lﬁz
| T N B o T L o, .
| ™ A F |7 Rl Yo (v
| |3 E Ej ; i’
. 4 =AU VRN N S NUNY SN B
6 |
o i & <
s \ ~Jd B
\ AN
o T o \A‘. — — - - \\‘t’h——:i}:? ng\-' ‘—‘35:% "9?_ . v
L - | == f B .
754 Ras> | z ' bt Sl
. 5\ ; i w - -. o ve‘,
Frame (k) ——|—<___ . == = I | Zh8 RS Bour)
A %
V‘ g—zmw"""*r" e e e e S SRS SR WROSRNRT e b
X et — : -

Scale:

3in. =1 ft.

FASTENER SCHEDULE - TARGET STATIONS

Connection

! Fasteners

Quantity

Remarks

Joists to Posts

['3/4” x 14" Carriage Bolt w/n
& washer

ut | 2 (1 each

end)

Through posts

Roof Board to Posts

#10, 3” Phillips Flat Head
Deck Screw

8 (4 each
end)

Top of posts

Target Floor Boards to Joists

#10, 3” Phillips Flat Head
Deck Screw

4

2 per each joist

Board

Deck Screw

Target Wall Boards to Posts #10, 3” Phillips Flat Head 4 2 rows of 2
Deck Screw
Target Ceiling Boards to Roof #10, 3” Phillips Flat Head 4 2 rows of 2

Front Frames to Target Boards

#10, 3” Phillips Flat Head
Deck Screw

5

1 per target board

Roof Frames (S
Boards & Posts

hort) to Roof #10, 3” Phillips Flat Head

Deck Screw

2

1 in roof board and 1
in post

Roof Frames (8!
Frames (Long)

hort) to Roof #10, 3” Phillips Flat Head

Deck Screw

4 (2 each
end)

. \~ £ L o
.-"‘“>— ‘e, ® 4“ {ﬁ o L\\f'

F'a e <\-60:\\ E
-

|
i
|

|

o

i

%
|+
| 1
| &~
{

P

2:; \2:‘5( a(‘\T Y E":' C ‘."\ [ 2 & 7 - i, 4 ## Lae— \ - S -
! * fﬁ = 0". B‘ SAESS T ‘;{“" 1.‘2-:"" m Tn-rgfe_“.’ C.J::" ‘H "n “ﬁ PP
ot 3 \ ATBVD
it i h
4 L = B | ] }r,/l ﬂ T = -
! : | i A
gl [ / f\ & i i /
; ‘ A i — 1 . e X [ ] /‘7‘_:;”1‘ i
f i : 3 ] LRV A8 Tamer T I | 0
| ] H ,/‘//‘?- 4 TR Yool - v”‘ﬂ/' - w-—'*“"t,‘ | *
1 ,,-“'/‘/ i i - Wall Brayes —= 7 }_ - 4
B e » _
— ' ‘ i . ;_- T Yra £¥.
" 1 ‘{ ] \ - - A -\ /—.5’4 ; |
\\ Lhi . "’ : / T alh \E' Q‘BTZ-,‘—.- \e;;_‘l\:w'.\" ka1 h\_g, (:aa-‘.}-q ;‘“&u—_‘ —_ e — T T
T | 1 : N T —Zx 2% 20 iS 2% e’ P
oot . — 4 " i 1 [ | “T’ [ vl ¢
2% Feadk Frame | f i “'!i lawae™ Wl o
] 3 : 4 ; L = \Z"‘* a7 . T, i I .:,w-.l \ : 3 N . .
i ) . Y A T Fiese, Wesrs Doard 2 = N \.‘
i i i , [ ~ Notsnea arass
A . L /i N Bear Voo | = = - 7
T . _ . i I = — 'i"\‘tS =3 v
] i H { ! i
i 5 it __j[ S N
| / T
i .
| B e
| Ve s g J\
g 3 ‘ :ﬁ{‘ﬂ{.:'is; :v-—-. '-*‘\: _'/ i I i .{-
Y 3 - ‘ ) . ¥
T — | i i & L Y

/

{

2% B T —A4

B% B

A IRy

-.-’—'-'--u;-,qﬁ===;,—?/§‘—:"""‘ =

¥ Z\}}\ Ca:_r& hﬁ:\«}&r«::&:""ﬁ'g —

hele v

. e

Compode) et el < || 1
‘_:\‘i\ f&
LT ,
=
L__ \ - Gh bl':: .

TARGET STATION SECTION

Scale: 3/4 in. =1 ft.

PSS

i
’ A
Acki=a P
s \
nd k

. ) [
) = L"-f—-\'ﬁ\‘r"‘.\\ W%%ﬁ Corn :}{":j\ }

+-

~F \ 3 4 ]
\(C 7’.‘0\"}1¢§{"¢:_r" ":\'.f'\"‘

=R,

et

Sty — j
N

T ol I
L :

!

[
|

| |
he Y

REAR ELEVATION — TARGET STATION

Scale: %4 in. =1 ft.
Note: Roof not shown.

i e

& i o,

Z\ux %h :5; -‘.5’%—
A

“‘I&/

H
!
|
H
i
e — . ‘ g ;;TT— _J{"""""“‘"“".”".".."’

I

o“wEALT

Q.\
0‘?‘ REGISTERED

(3 %
PROFESSIONAL

Scale: % in. =1 ft.
Note: Roof not shown.

- FRONT ELEVATION - TARGET STATION

[ PENNSYLVANIA GAME COMMISSION

GREENE TWP.

SGL #1049

ERTE CO.

ARCHERY RANGE PROJECT

FOSTER R. SCHAFFER

SHOOTING STATTON AND TARGET STATION DETATLS

ENGINEER
No,
£039260-
Y b

> ,
6\
¢y

REVISIONS

Qa/‘?/ 2%

rf>£>-£>i>

PROJECT NO.
DRAWN BY;
OATE:

SHEET NO.

P6CA08-23-01 §

35
elal23
2 0F 4

B



